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1. (@ “The investment process involves a series of activities startmg from policy fonnulauon .

In the light of this statement, explain investment decnsmn-makmg process. Explain relevance
of this process in making sound investment decisions. 5
| P.T.O.
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The following information is available with respect to two securities in different economic

conditions : ' : 10

State -of Economy Prtibabilit)' of ()ccurre'nce' Rate of Return (%)

Security A Security B

Boom ' ‘ 02 40 30
Normal . ' 0.5 20 15
| Depression 03 -10 -15

Based on this information, find out the expected return‘and risk of these two securities.
Mr. Sharma, having 4 1.00.000, wishes to invest T 40,000 in Security A and the balance
money in Security B. What will-be his expected‘rétum of the portfolio in absolute terms

and in percentage ?
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What do you mean by credit ratipg ? Dlscuss its relevance for the investors and the
issuing compames _ . _ : ' 5

Rama_m'-purchas_ed some shares at the rate of € 100 each five years "ago. During the

“last five years, the share exhibited the fo_llbwing price and dividend pattern : 10
Ye‘;r End Price ) . Dividend ()
L ' 106 - 5
2 108 7
3 _ 1_26 : 8
4 i 10
5 130 BN

Find average return and risk on this share over a period of five years.
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Define risk premium. What are the various types of investors on the basis of risk aversion ? '

Explain how these types of investors demand different amount of premium for bearing

risk: o 5

Mr Gupta holds two equity shareﬁ A and B in equ;'il proportion with the following

risk and retum characteristics : _ 10
., _ : ,

Expected Return on 24%

Expected Return on B ' 19%

Expected Risk on A ' . 28%

Expected Risk on B~ 23%

The returns of these securities have a positive correlation of 0.6.

Calculate :

()] Expected Return of the portfolio.

(i) Expected Risk of the portfolio.

(i) Suppose an investor wants to reduce the portfolio risk to 15%, how much

- should the correlation coefficient be to bring the portfolio risk to the desired

level.
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‘What is market eﬂ'ncxcncy ? Explain thrce forms of market cﬁicnency Do you agree
. that secumy analyses are irrelevant in an efﬁcnent market ? ' .5
The followmg information is given about four portfolios : 10 -
‘ Portfolio - Expected Return Risk (in terms of standard deviation)
A 28% T %
B 2% %
c 18% _ %
D 23.5% | 2%

. 1t is further given that the return on market index is 19% and the return on risk free

()

(=)

asset is 10%. The standard deviation of the market index is 14%. Which of the above

portfolios are efficient on the basis of Capital Market Line ?
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. Distinguish between : ' ' 5

@ - O.pen:'cndéd‘ and Close-ended schemes of mutual funds
(i) ~ Beta and Standard deviation.

A T 100 par value bond is available in the market at ¥ 90. It bears a coupon rate

of interest of 14%. The bond will mature in S years from now. Interesl-is payable .

semi-annually. Compute Yield to Maturity (YTM) of this bond. What will be the value

.of the bond if the required rale’of return of an investor is 16% ? Should he buy the

bond ? o _ : 10
aﬁiﬁa FHIfT @
() HINT weH H Fgd (op.en-cnded). R THA (_closc-ended)_ﬁmrq'

) e (Beta) 3 TH faEH (standard deviation) |

7 100 3ifFa qE 1 wE diE @ H 7 90 W IR ¥ |§Hmansi

T W 4% ¥ 1 A @ @ o a6 § ofwe @ S| S

aéarﬁﬁméu%lsaaigﬁqﬁqaammuﬁma(wmﬁmﬁmu

@ 4T 9 Fwa F0 oA ARk A WA W i6% A 2 T

aie. wie afew ? | |
| Or
(3reram)

‘Distinguish between :

(i) + Direct investing and Indirect investing

(i)  Callable deb;emures and Putable debentures. . _
- '- - ' P.T.O.
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An mvestor purchases a two month call option of 100 shares of Skylight Ltd. at a .
smke pnce of ¥ 350 per share on paymg a premium of ¥ 20 per share. Find his expected
gam/loss per share |f the actual price per sharé on the exercise day is s % 300 or
T3100r ¥ 370 or X 380 or¥ 400 ‘Also calculate the expected gain/loss of the option

writer at these prices. _ . ’ ' 10
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“Options provide an opportun'ily of earning unlimited gains with limited risk to option

~ buyer.” In the light of this'statement, explain the nature of option contracl. Also dlsungmsh

. optlon from future. - ' ' : _ s

A company proposes to sell 15% debenturcs of 2 10,000 each redeemable at par '

after 10 years o1

(N - Al what price, debentures should be issued in order to pr.ovid_e the investors
a yield of 16% ?

(i) ‘What shouid be the price if the éoﬁipa’ﬁy decides to fepay 4 1006 s;u the end
of eééh year ('instead' of 'mdeem@ng the whole amount after 10 years) and to

pay interest annually at the rate of 15% on the outstanding ',arhoum ?
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A firm is currently paqu a dividend of ¥ 5 pcr share The rate of dividend is expécted

to grow @ 5% p.a. for the ﬁrst four years and 8% p-a. thereafter forever. Find value

' of the share if the requ1red rate of return of the investor is 12%. Would )ou recommend -

an investor to buy this share at-a price of Rs. 125 7" 10

o fewfral fafan

'@-mmafmﬁmuw

@ AREE

P.T.O. _



(a)

(b)

(©)

( 10 ) 554

'(a)-mwmﬁzsﬁWWwwété% l?_rmimﬁ'a;_q%ﬁan'

asi s%a@ﬁm%aﬁimﬁmémmlwwaﬁ
e & Ul emed Al fafidemr @ aEt # ST 12% W 1 S 3 U
fafrdea 1 38 3@ @ T 125 W @R # fawiwm w7 7

A share’s current price is Z 60. The company pa_idl dividend of ¥ 4 per share last
year. If the investor’s required rate of return is 12%, find the dividend growth rate.

Also find likely price of the share after two y;éars.. -5

An investor buys 1000 shares of Fortune Ltd. @ ¥ 180 per share in the cash market.
In order to hedge, he sells 700 futures of the same company @ ¥ 165 each. Next’

day, the share price and future price decline by 5% and 20% respectively. He closes

his position by countertransaction on the next day..Find out his net profitloss. 5

" A mutual fund has the following details of its investment and expenses along with number

of units issued by it : ' 5
- Cash and bank balance T 1.00.000
Listed Debentures T 1.80.000
. Equity shares : 2 8.00.000
G.ovcmment secl_xrities T 6.00.000
Unlisted debentures T 2,00.000
Accrued expc-nses T 1.00.000
Accrued income - < 20.000
Number of outstanding units 1,50,000

Find Net Asset Value of the mutual fund if the market value of equity shares and listed

debentures is Z 10,00,000 and ¥ 2,00,000 respectively.
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Or .
(d)  Why there is a need of investor protection ? Discuss in brief, the steps taken by SEBI
for investor protection. : o 5

(¢)  What is financial engineering 7 2 Explain some innovative instruments created using financial

engineering in the past few decades. _ 5

(N The followmg mformanon is avallable in respect of S Ltd. for the year 2013-14 : 5

Operating profits ~ ' T 28.00,000
,Tak rate - _ | - 50%
Equity share capital (FV =¥ 25) -¥40,00.000
10% preference sharc. capital T 20,00,000
12% ‘secured loan T 20.00,000
14% debentures 2.10,00,000
PE ratio _ . 18

After doing fundamental analysis, find market price of the share. -

(H)ﬁﬁﬁwmwﬁaﬁmmaﬂ%7ssmmﬁﬁmmm@
I &1 wWiwE qu Fifag |

(a)ﬁﬁazﬁmﬁnw%7ﬁiﬁamﬁﬁﬂﬁﬁaéﬁrﬁwﬁnmm®
F9 FaEFd AER &1 FuH HIfEY |

(Uaﬁzonm%fﬁqwﬁﬁé@'%mﬁﬁwﬁvﬁ@awmﬁ

FEred @M T 28,00.000
F B 50%
Taa 3w St (3. G = ¥ 25) ' % 40,00.000
10% Yaifaestt 379 t{ar T 20,00,000
12% RfEa | ©2.20.00,000 ¢
14% FOTT 2.10.00.000
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